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PRECALCULUS Section 1.5: FUNCTIONS (Day 3) - CLASSWORK
Determine  a) if the graph represents the graph of a function
b) domain C) range d) zeros
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PRECALCULUS

Section 1.5: FUNCTIONS (Day 3) - CLASSWORK

13.  Given the graph of the function f(x)find: y
a. Domain and range. D: [-3,4) R C-2 '2) T e
b. Number of zeros of the function 3 9
c. The coordinates of the y-intercept. (D”) y\-
d. Thevalueof f(-1) O —t—A 7T
e. The coordinates of all maximums. {o),) / \4
f. The coordinates of all minimums. (- 3,-2)) (2'-;)
g. Intervals where the function increases. {-3} oW (23953-'21
h. Interval where the function decreases. ( 0, 2)
14.  Given the graph of the function f(x)find: T
a. Domain and range. ! (_5) ®©) R L-Z,OD) 1y
b. Number of zeros of the function 4 24
c. The coordinates of the y-intercept. {0,"}) /
d. The value of f(-1) ol | AN : A : X,
e. The coordinates of all maximums. (2l |) \__/ \/ s
f. The coordinates of all minimums. 3,—2) N
g. Intervals where the function increases. ( [,2) v (3,&)
h. Interval where the function decreases. ( -3} -Nv(2,3)
15.  Determine the domain of the following functions
a. f(x)=3x"-3x+1 b. f(x)=x+1
(- @, ©) (- @, ©)
X#0 ¢ X+320 - 203010 X#d X#q
? X =-3 (-2,2)0 (2,4) v 4,)
o S(x)=xT5 . T@=VEes xwhen you
Xt520 L-5,%) (o)  Seuare X it
xX=2-5 Pecomrs positive
£(x)=— -3 (X+8)(X-2)=0O PR . S0, D' all reals
g. X +6x-16 X'-'-"'B X2 h. - =3
x+3

(-00,-8) U(-8,2) v (2,09)

saving journal files Page 3

(-WJS)U (5} W)



